ABS B4

2012.02. 05
N AME 7T)h 1 |GROSS| HDCP NET R AN K
#t+ Rit 37 39 76 7.0 69.0 & B
2% T 46 41 87  17.0 70.0 = #H{EH
By RZ 48 42 90 | 20.0 70.0 341
BR B 42 M 86  16.0 70.0 Az
KE EE 40 36 76 5.0 71.0 Yivi
HE F 37 42 79 8.0 71.0 641
WH BEE 40 42 82  11.0 71.0 141
F OEX 38 43 81 10.0 71.0 811
101 o 45 43 88  17.0 71.0 94z
ik S8 41 38 79 7.0 72.0 10z
hE ER 38 40 78 6.0 72.0 1141
AR & 43 43 86  14.0 72.0 124iz
BH #iE 46 37 83  10.0 73.0 134z
hiE = 45 39 84 | 11.0 73.0 1441
{£%  sh3ll 45 45 90 17.0 73.0 1543
ZR FH 48 36 84 | 10.0 74.0 1643z
TR HB— 43 38 81 7.0 74.0 1741
NI 3 47 40 87 | 13.0 74.0 184
Bl ®Z 48 40 88  14.0 74.0 194iz
ME 48 43 91 17.0| 74.0 2041
B K=& 42 M 86 | 12.0 74.0 21431
i @EX 45 48 93 | 19.0 74.0 2241
AR &k 48 39 87 | 12.0 75.0 23431
®%E F5 40 40 80 5.0 75.0 24431
F 75 49 48 97 | 22.0 75.0 25431
A ERKEHR 45 40 85 9.0 76.0 26431
FL EA 44 M 85 9.0 76.0 27451
#E BA 48 50 98 | 22.0 76.0 28431
ER BA 44 4 85 8.0 77.0 29431




ABS B4

2012.02. 05
N AME 7T)h 1 |GROSS| HDCP NET R AN K
B BsA 43 42 85 8.0 77.0 30431
INE  IERR 45 42 87  10.0 77.0 3141
RAR ZEA 49 42 91 14.0 77.0 32431
B2 FERER 44 43 87  10.0 77.0 33431
HEA Bt 49 | 46 95 | 18.0 77.0 3441
mA EIR 43 48 91 14.0 77.0 3541
BA #Hii# 45 52 97 | 20.0 77.0 36431
HIE 1EfFA 47 40 87 9.0 78.0 3741
B IBfT 47 43 90  12.0| 78.0 3841
2% — 51 44 95 | 17.0 78.0 39431
AR KRR 42 45 87 9.0 78.0 4041
% - Gl 47 45 92 | 14.0 78.0 4141
WE IEA 45 48 93 | 15.0 78.0 4241
o= BA 53 48 | 101 | 23.0 78.0 43431
=lF MR 43 40 83 4.0/ 79.0 4441
Fi g 41 4 82 3.0 79.0 4541
TH #HE 44 43 87 8.0 79.0 46431
M EE 43 45 88 9.0 79.0 47431
=X BE 50 46 96 | 17.0 79.0 4841
WA g 42 47 80 | 10.0 79.0 49431
tH 7 49 47 96 | 17.0 79.0 50431
AR EiE 47 47 94 | 14.0 80.0 51431
=K E 49 50 99 | 19.0 80.0 52{L
=R e 51 46 97 | 16.0 81.0 53431
;E s 47 56 | 103 | 22.0 81.0 A4
BA RIE 60 50 110 28.0 82.0 554L
B RE 53 43 96 | 13.0 83.0 56431
A =B 48 47 95 | 12.0  83.0 5741
AT Mg 48 49 97 | 14.0 83.0 5841




ABS B4

2012.02. 05
N AME 7T)h 1 |GROSS| HDCP NET R AN K
wOILE 48 52 | 100 | 17.0 83.0 59431
H#O BX 48 48 96 | 12.0 84.0 604z
A FE 48 49 97 | 13.0 84.0 61431
=X & 50 48 98 | 13.0 85.0 624:L
A FHH 51 45 96  10.0| 86.0 63431
A0 EE 48 48 96 | 10.0  86.0 64431
X5 BE 48 48 96 | 10.0 86.0 651z
FOE— 54 46 | 100 | 13.0 87.0 664z
WA A 53 49 | 102 | 15.0 87.0 67431
EA LB 53 51 | 104 | 16.0  88.0 684z
=mHE B 56 57 | 113 | 25.0 88.0 6941
WE Eh 55 52 | 107 | 16.0 91.0 70431
BH & 52 53 | 105 | 14.0 91.0 71431
FXR XH 56 51 107 | 15.0 92.0 12431
FH OEE 60 64 124 13.0 111.0 134z
e - 0 0.0 999 N R
=2 YX 0 0.0 9999 N R
by 0 0.0 999 N R
A —2 0 0.0 9999 N R
PR ZAA 0 0.0 999 N R
BH &= 0 0.0 9999 N R
WO EX 0 0.0 9999 N R
% 0 0.0 999 N R
Z2 BN 0 0.0 999 N R
W = 0 0.0 99.9 N R
it HA 0 0.0 99.9 X #&
Zix 15 0 0.0 99.9 & #&




